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IMPORTANT INSTRUCTIONS

This Question Booklet is divided into three Parts—Part—I, Part—I| and Part—IIl. Part—| contains questions of
Language (Qualifying), Part—II contains questions of General Sudies and Part —IIl contains questions of
Business Studies.

Part—I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part—I, English L anguage consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
L anguage consists of Question Nos. U-9to U-30 and Bengali L anguage consists of Question Nos. B-9 to
B-30 (Students are required to choose the questions from any one language out of three languages). Part-I1
consists of Question Nos. 31to 70 and Part-111 consists of Question Nos. 71 to 150. (the questions and their
responses are printed in English and Hindi versions both of Part-11 and Part-111)

All questions carry equal marks.

AnAnswer Sheet has been supplied inside the Question Booklet to mark the answers. You must writeyour Roll
Number and other particularsin thespaceprovided in theAnswer Sheet, failing which your Answer Sheet will
not beevaluated.

Immediately after commencement of theexamination, you should check up your Question Booklet and attached
answer sheet and ensurethat the Question Booklet Seriesisprinted on thetop right-hand cor ner of the Bookl et
and the seriesencoded in answer sheet are same. Also please check that the Booklet contains48 printed pages
including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or
unprinted or torn or repeated or question booklet and answer sheet havedifferent series. If you find any defect
inthisBooklet, get it replaced immediately by a complete Booklet with OM R sheet of the same series.

You must write your Roll number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

Each question comprises of Five responses- (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet, there are five circles- (&), B), (©, (D) and (E) against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
guestion. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated aswrong. Use Black/Blueink ballpoint pen only to
mark theanswer in the Answer Sheet. Any erasureor changeisnot allowed.

If thereisany sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
guestions, the English Version will be treated as standard.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet tothelnvigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms if that makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.

E-1. Whyis Kerala just the place for you if you

love variety ?
(A) There is something here to please
everyone

(B) Kerala has magical backwaters
(C) Keralais veryboring

(D) More than one of the above
(E) None ofthe above

E-2. Why should you take a trip to the spice

gardens in the hills ?
(A) To count the spices that are grown
there

(B) Tobuysome spices

(C) To inhale the fragrance of fresh
cardamoms

(D) More than one of the above
(E) None ofthe above
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E-3. Whatis Kerala's cuisine known for ?
(A) Forits bad taste
(B) Forbeing bland
(C) Foritsspicy hot flavours
(D) More than one of the above
(E) None ofthe above

E-4. What gives sea food its pungency?
(A) Coconutand spices
(B) Coconut & spices enhanced by
tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None ofthe above

E-5. 'Why would foreign bargain-hunter visitors

never face a problem in Kerala ?

(A) Many foreign languages are spoken
in Kerala

(B) Hindi is the language of
communication in the cities of kerala.

(C) English is spoken and understood
everywhere in Kerala.

(D) More than one of the above

(E) None ofthe above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a', 'an', and 'the":
E-6. Ifyoureach Airport on time, you will

catch the ﬂigT
(A) a

(B) an

(C) the

(D) More than one of the above
(E) None ofthe above

E-7. Youshould go for early morning walk.
(A) the
B) a
(€) an

(D) More than one of the above
(E) None ofthe above

E-8. If 30™ April is Tuesday, what day of the
week would be 10t May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None ofthe above
[=]#% [=]
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(Hindi Language)

frafafea smfea o & onem )y €. H-9
| H-14 9% & J9i & SW & 9. |

T 3R T T § TR & B 9 | WA T o 3R
T G | To T g oft uea | o ot | |t Peren
I STAER A A T A | 39k Forodia srer siga ewe
o1 | e & Feet Weld—ghed 3R aganft # aifew m
TG o1 | T 3R 31w faeht drea 9 | gaferu @ e
! ITTBT BT o oh o0 TeArg 2 ot | 31T rerent hi
T T AT AT | Teh IR {04 § TS gieht 311" WRT @1
o1 | T A ISRt 31T hl UehAT <TRT | 3 8 § Teh HIeX
& e ag i |

H-9. 7 SreeRt 3113 i ot ekl mel ?
(A) YO ST | R I A1
(B) ¥ 3iR 3T1a U & Whet ° Ugd A
(C) Uk aRIGA | TR I ST TR TgT ot
(D) ude & U A aAfeew
() Swdam & e

H-10. T 3 Tl A3 B T o o1 T TeATg ol
aqr ?

(A) Tocht 3 g & R0

(B) U et H UG & hwt
(C) W3 w0

(D) T it & v o
(B) Sudsd & =g 7

H-11. WA= ?
(A) &
(B) Ueidaw
(C) wwzER
(D) Iugea @ Uk @ aiitrn
(E) Swder o & g el
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H-12. @ 3R 319 Saa d = 9 ?

(A)

B)

©)

(D)
E)

s

Tt e

g

Iuge | € T | A

SUYer WA HE TE

H-13. @it iegreh W 8 RN @ @a 2 ?

(A)
B)
©)
(D)
E)

T <ht e o HROT
T o URerHt g R0
T o STAER o HRUT
Suger | A U A e

SUYer WA HE TE

H-14. 33 fora M # 31fees 79 emar o ?

(A)

B)

©)

(D)
E)

e
wgd

dreid

S 8 9 v @ aiferh
SugeR A A T

S [P.T.O.



fr=feRaa orafsa werwr & omaR W W €. H-15

A H-20 9 & Uwt & W A SRt |

forarsit wa o wEr R H | U 9 | S 32y WERn
A9 % 3299 | off 3= A1 | I AU HE 9 @ 1S
SheTel AR €1 T8, Sfe<h Ueh 3Te0 ToHITaR it & | 32 wt
T ek T <Y T IR & SR TRreT T T i | 3
FR 775 A A ofi TR o o IR FER o SR FA A |
3Tk 3T TUT 3 HRUT At T ITHT SR FA A | TH

At 3k Sitam | e o =nfzu |
H-15. s SR gn & @ iR g ?

(A)
(B)
©
(D)
(E)

Teh 378 TS

g fommen

FITA HHIE

S 4 T
SugeR A i T

H-16. TraTsh 3 & § hiq € Hiamn wd ?

(A)
(B)
©
(D)
(E)

g @

T Ty

Fan
TR 8 & T @ ot
SR 8 6 g T

H-17. REcidR ?

(A)
(B)
©)
(D)
(E)

WA T ISR gl
WA & g A 4 & U
AT <l HETH A1
Sugerd § @ U W SRR
TG § A R T
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H-18. i Prarsh st siret i shid & ?
(A) 3R e S HwRT
(B) wRREgEIHHR®
(C) 3% 3T<S TUIl o HROT
(D) Sudwd AT A Al
(B) Sudwd & =g 7

H-19. T3 TeHifas 91eg ot 312 ¢ -
(A) =g Hifa e v = deer g g
(B) =g ifa o v w6t weme gran @
(C)  Towhfa & wvafm i
(D) Suger d € T | 3iferh
(E) Sudwd & =g 7

H-20. =70 srafda et < e 2 -
(A) ForarhHimia e
(B) Trash =t St
(C) Tomash o wEmm
(D) Suger d € T § itk
(E) Suder & g T

H-21. 37 safharas @ 8 -
(A) &
(B) wm
(C) w=aA
(D) Sudew AUk A Al
(E) Sudwd & = T

H-22. 37 3A0Ysy qeAm § -

(A) #

B) 1

(C) ==

(D) 3o & A0 A arfeen

(E) Sudeada e
EIEI
o,



H-23. ‘oM Wi T8 o | arer § fore wnen it o H-27. s yg o g -

TR ? (A) ek oh s

(B) SR B) s

(B)  werere (C) =1z R 3ve T e e 2

OREL b (D) v A v @ s

(D) THFHA TR S ) vEmEdSEd

(B) Sudsd & =g T

H-28. 39 W1’ 91eg <l A= TeE & —

H-24. @9 acan vise @ - (A) e

&) == B) s

B) = (C) wurt

(C) < (D) Suder & & U A s

(D) Iude 8 U @ Al (B) Sudsd & =g 7

(B) Suger & & hig &

H-29. ‘i@l «im &1 fie g’ areaEvs & e v

H-25. T yg e d - = -
(A) PN (A) Wem
B s (B) www
© e ©)
(D) v s s (D) THTHAE A
R (E) Suderd @ i

H-30. ‘@erRE #ugAr WAL -
H-26. 37 ‘Scpe’ vIeg o1 faudianeer v1eg @ - T

@) fg (A) FEAHTS
a;q (B) < fern
GZ) o (C) T amm
(a); e @ (D) Sudwa# W uF | AR
TS
(E) Suderd & i T
(E) Suded & i T
[=]#E[s]
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(Urdu Language)

2 pe gl 1 dntde A d Se kL
SELUF e et Gt 1302 gt

P S TR U
cLHSUFE Ue e Gl S
sl FU e et e 55 G
Sl Lol oA

ST Tl e Pt i U - e (s
e Sre JF

0ol LT S
LLuiz (A
LLul: B

LLuf (O
e gl & gite” (D)
S e (B

IS UAS T Fe T
S g
£ @)
o’ (B
uéf,;: ©)

Sie K Jille? (D)
S Uil ()

K g B e U 0
oW
Je @A)

S ®)

Ze(©)

Sie K Jelle? (D)
S Uil ()

Wi rtutu' Fe 2
PN
- (B)

£ ©

S Ll Sl (D)
S Ui (®)
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.U-11

U-12

.U-13

.U-14

ST T e S

SEEUTs AL U Fee S
e ﬁ”f@faj,//,t;ﬁid/uw@u%wdg
Sk E S e fe Ui dE
! (Zl/,l,,g,c{,;b’,«wﬁué‘(ﬁ@ﬁ,{:«"w_‘gﬂjl

& Lt U Ee

£z (A)
= (B
% 1 ©

e L JiUe” (D)
S s (B

VLA S

K (A

§fe2 2 (B)

K G (O

e L SV (D)

S e (®)
]

.U-9

.U-10



ITLL(E}G'@:C;J‘/&}JTU:M
cunE o Uik (A
=dSl  (B)

= lndle  (C)

Sie K Jille? (D)
S it (B

°u§LbL}W:LdQJK;j;f
Lue (A

Loiky (B

Zlt  (©

S Ll il (D)
S st (B

Pould O Susid syl
?u;&@n

Uil (A)

uilt  (B)

U#F (O
S Ll Jile? (D)
S e (B

frd VUQ(UUDH&.}”
i (A
Ji (B)

()
e Ke Jolher? (D)
e e (B

fe L/u;’/( 19 Jn 5
NN

o7 (B)
JE (O

Sie K Jille” (D)
S st (B
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U-17

.U-18

.U-19

U-20

.U-21

,ugd/,/ej.éu@:;m:fdmuﬁm&g:w

e Qi U Us gote Sty il i

S U b g 2 S

e Lz s S Wl 2l

e T i S = 96K

GG
JG/?J’L&&L%G/L’ZI%é)(“V'

&g&u,//,tuzUt:u;ésg?uganuﬁz,/

Ul bl AU b P K

SASUL eI I A Gt SE

9 T8l Qe ot Ui U

/5'JA(JU}3t_‘Lt'lgn

e $nAUL L =50 U-15

v (A)
g ®)
% (C)

e L il (D)
e s (B

QAU e eI S Lol U-16
?LQJ,%
Susy ()
Seb (B)
= (©
Hiefl & Jiloer” (D)
Se s ®

=g [P.T.O.



?‘LLJ/J;U.:‘;!;'K"ﬁ "
oUl (A)
G B
T ()

M K Sl (D)
S St (B

fe I UL s
=l  (A)

<t (B

~ (©

A K Sl (D)
S s (B

S e A I 5
g A
E (B

g (©
S Ll e (D)
S s (B

e WG S st
SN

W B

Uk (C)

S Ll Sl (D)
S s (B
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U-27

.U-28

.U-29

.U-30

ez by g el T U2

?‘L l.{(

=2 (A)

A B

S ©

Sie L J2ie” (D)

HYe S (®)

LWz d s L

. v

VSRV

= (B)

S ©

e L Sl (D)

S St (B

fe e p Lot s

SN

S (B)

o’ (O

e L SV (D)

et (®)
?“édu' t’%f!ﬁ S U:Ll5@/}

A EE AL (A

<deEUELLL (B)

eV (©

Sie L 2l (D)

S S (®)

S I GBS A e

U @)

Usf (B)

A2 ()

e L S (D)

e e (®)

.U-23

.U-24

U-25

.U-26



(Bengali Language)

e (B-9 (3t B-14)

TR Aot A2y e A6, [FE @1 @il
2300 I #Ale, Sz oves fee a1 | fofd e gl
oo, @ wife gzl 23xifece, 2 #[iE «@3g
TS <4 58, SRl 772 2281 Al | (1] @ i #1123,
Trol (<12 e ToifFe 236 | @5Te TR [eie 2309
kAW NPT ‘@, 2R (R Srse ©iid «ics forifs
A[BNCR; TS SI1wie 777l 712 2ile 2303w, eAieces
B (e AiZCa @R Fof SmisIces 225! 213 |
FAIIL G SR ATHF FBCHCHT T fzar, fofe
TR B AW S AN A FOICH TR 230 |
AW S, T wiREet axee Afere aifae |

TS TR el SRR PN AFCP AT,
“@ 2l [RICE, wiRIte (ost e 6 2303 2 SieME
«Q I S SN I 230 1 | S ST
23AMZ | O SN §3 72 (T, JLRAN O SR
aereorial T T O A (F T 2 (7 AT, ORI @
e (& T IR (T AN T | el
SR G2 @S DI S G0 ol MSa-arate
I IR 0L BRI |7

I AR B e @ @3 fofd qamida
forera 7 fetaw | AR ot misiew 23ce, fofq
AR et Alemifetem @, T faw [ weE
feovife #i7, Sww: ww e coiEl SRl SiE 92
ST F9, M AN WO IO (ONE AR |
AT e OIRTS TFFe! &AMt | AR
M A g v i sy <¥fcs wifeeem | “siw
Qs 5 FTS N2 230 BIfRA 7124 | G230l
Tl 1 Afern FiRIAR Sl (7 ARRY &2t SRl
2B | FHHAFACES Wil 22 SR 22w 8+
i &7 |

F A e JRTS AT Fi2 ([, St
et el 2B | vl (e SR ST
e 2305 | SR AR o], TEHCF SR IR
foml pifererzd, (T e Feq 230, A0,
‘e it e, S & R 2 st a1 e,
oI ©lRlE FRE 17
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AT e AfeTEw, oy v, e
1A 3ZeT | e ST 20O T Wwtad g2l
T o 23300g; Sredd AT @F NS A
SfEIfF 2303 | Sl OIRIE @RE, Do S
B OIZICE T SR, G2 S o1 | iisifer @2 i
FeE Ffcers fil e wface 21 1”

N G A, SN SN2 @0 *iofel
Ffacely, S FGANCE Ao FU Af4F Tg I |
I AR @ A F2A; SAioife ey T 17

SR FAT T SR | SRE G A ww Smea
GG SFIeE T @l e | 2 @R s AR
FfATeT, 3 = Fifocae =1 | I A SRS [/
TR S IR (F, G0 S 902 5o | 2T
U WL 2ZCE SR | TN o (T S2F,
(1 MR To- e MRWREN ORI (2 20 bt
2 | @FCel SF w12, oI W (T SRFNE T2 |
el ol BT e 230 | FNL A, A @
SR SIS TRCY FS=Ca 127 (oICe |

fofq Afewe Ao Diewt sz e
TSI G T 239 A, SEUcae OiRid Yy 234 |

ToRE A F AF AREACE O
Toifere wE meRiRce | e kR qifermt aferat
SIRICE e ABITe @ ARFCS Weer =1, So 922
AR | FCAFT AR, AT THfe (@5 =@
SACER S SN Gy TG AR, T8 i
I e S, ifi TR s Torm FR9,
I FGIReN Tovd SR = | FIMLIRAIFH GFHCE
IS AL T 230e | FIMRIG TR AR
T5{feq TQRE FRCS A0 |

Jife A ez | e S I TarecE

(IS AETRANE ©I2F @3 foe | fofd fKitapa s @,

AN @z erereife @t fres, wifs o W 363,

OGS (FZ OIZ 13 | TOdF T0I LI, TR [eawa

Sz R4z T 2309, O OigR KA 7)1 92w o7

Tl 13 | 92 eI I 1] FiFiaR [aites

(I STiel 71 RN, ORI Sesnte! RS TR |
EEE

1T [P.T.O.




B-10.

B-11.

R el (& g2t 23 ifRce 2

(A)
B)
©)
(D)
E)

O SRy I e
SRl (RE [ 71 2e
THARTE SR W0 GG (AT S

FIFIL A (T AN O FOIF Ttz
230E 2

(A)
B)
©)
(D)
E)

M Keites 2w e

AW SIS

fofseatiz oo

THCS R WK G (AT &S

AT el FAINLY A7 I [ o
IRt 2

(A)
(B)
©
(D)
(E)

I A2y

A g el

ol =zl

THCS R WK G (AT A&
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B-12. =712 I (F AR [{c2g Sowial 1
FER ORI S TR 2

B-13.

B-14.

(A)
(B)
©)
(D)
(E)

I el fee
THge g Al el
THARCSSfeT WL G (AT K

JIRE NS (o LI A 902 =
FACO O B2 ?

(A)
(B)
©)
(D)
(E)

iRe nifvw w26

BIRIRIBIEAC DI

fofseatia way

THCS R WK G (AT A&

FIARIIIL A @ AT TG g
e sface sface ¢

(A)
(B)
(©

(D)
E)

DI MR LA
RN SR

TR FGII T FRC = R
RIER)

THifaCeafled M0y O (ATF IS

EEZE
o 1
[=]g:



2Rt (B-15 (4t B-20)

fe Ffeer—aeg s IFCelR, SN (o WA @
S FEAZ |

S FfeAT— W, S-S B I (ORI
ST 30 A1 2

e et —7 B9 7ol wiw @ g sive
[ N O €OIF S2R_TE MiRTe AT

A S g qeARd "eT [l oS
Rl Ffee—eael, ggfon W9 @R (ORI VA
COI-G] 2T [Z | 22 (Y A T DA (R
CSINITRE SIFCaa 24l s[eilfy |

e wfew ot e —odfie A== Tred
TP F(F ORIAR SNE ©F |

A SR — e Aol ool JRITE, Fee
GF] A (e TS 27 | SR oMo IO
Aelfe wam Aye godid Y OF CRIRTS 3w
AE GF6! GFE 2T Tofurad s ¢ I @
a5 2E FIRETR, O (ORI F/EE 15 FEAR|
oI oiE G efees i il Fifliafy, @
Ao SRS FCEN O AT FA-SINF T SI=0!
ORIt AREE 2307 |

S AT F2ET— (T ©fF AN, (7745
3R A ([ TE (1Z003 FelfRE F=0R=E-gf¥ 2val
JferaE Afes =1l | (@ AT Afee waalfd e core |
foe wxaif wfn wifamgss Sifgpcia St Gi-2E JoreR
SIS FIAT 2€ T O (6! (O (1 Freifs
R NCAIZIACH FT T 1 | (FTF =R IO (518
@izl eI, ST | (2 BRI, AT e
12 R4 39, (T S-S CISEFF (G, S
B R AT (TR 5 237 G N |

(I G0! 772 e (6B SR, FRFA—aF
(O 5 WCLE %, O THH AIFAH 2306 FIOR
AT T 2 AL RTwoF |
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ife sfze—aibrR o 13l Ior wr ada fF;
3oy 2Nl SEaTeT Wk AreFils SHe SR FRre
237 | o @ Sorw (Frewere e | 2bie
TIPS FfeeT—CT! HIcFR AeRMR; SN 96! 915
A #AfSrore—

(o PEe — (ORI AN ETRIGI Bie =7 wfice

it M (rfcef® | 799, O AATT!, TR0 AR AT
A

(TefFAR SNMC*R [Reeta (2 S Sieife Ffe
T G-, T FFE oeTtea ©eim 23te TR
it #iifSa wifaer vz fore Waig esiitem el
TS 23| PRI AT |

T ARGTS e —JACE 4y 237 AT AT T
AR F2re W, G2 foord foera SIwal Giois
@RS SAf7 711 5= SR S SoF 7, %
ST FOI[ A2 (T, SN A3 Fgres @1 75l
fafera ffran aifscs siica =11 51l fA6HRG w7, ol
W, THATH T A, AT FICS2 THOFA I | (7

o7ist RIS Fo, ORI SITARPING K2l |

B-15. 7w re, aFfer v @ Fl 20z
(A)
B)
©)
D)
E)

NG

e

SRRl

THARCS ST N AL (AP &

B-16. AR 3o, 20T BI QI O WA ALY

3 2TV SR ?
(A)
B)
©)
D)
(E)

CRICA &ren (1

femileT &cen

AR ATen

THARCS ST N AL (AP ST

e [P.T.O.



B-17. e (3 237 LI SRR (1T A 11 2

B-18.

B-19.

B-20.

(A)
(B)
©
(D)
(E)

5 IO @IF G AT AP ol

RERICRCERRA]

OlF eI FIC

OIS B FICA

TS E T N0 G (AT LT

PLACR ?

(A)
(B)
(©)
(D)
(E)

Froifi qag Fsjef

EKISISERCERC |

eI @ Srjef

TARCS SR A G (A ST

IR ~AfRRICR I 7 Fi e

(A)
(B)
(©
(D)
(E)

BEISERET
AJCHS =T

IHY G GACHA IHA

TARGS SR T G (A S

AN T, NCF FO I 2

(A)
(B)
(©
(D)
(E)

TR

GRS G2 TR

AN IR SHATIES

TARTE SR N0 GG (AT W&
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B-21.

B-22.

B-23.

B-24.

“.... 31 prel &7 fresiE (rRrEite e e 17
B FHAIET AAfFere FaCeT 27—

(A) (ORI FENSMT (R SN0 S e
KIS

(B) T 9o STiA fTerona =i=iig e
=

(C) I &1 wet &t et faca =i
(D) THCE e My G (AP TP
(B) Totad @itaife «

“ . ARCEE (@ TAFAL...” (@RifEe omfba
I feefar e |

(A) T35F I0T (@ LAIF; TLGATCEN A A |

B) @A (TeeR) e @ A (99);
ffsre sesj

(C) (RT3 <I; 79T O

(D) THRCE sl M G (AP TP

(BE) TR (RICAiE w3

‘...Ccomzeefe A AT e AeF 1 QAT TAE
G (I (105 2o 2007 2

(A) e

(B)  HEH

(C) ok @R Bl TeAfers

(D) THCE sl A G (AP TP
(B) THER (@Itag <

AR *%(G (P SIS ?
(A) f&
B) b

(C) o () @ <l (TR widie
TP *H

(D) CofaCeafer Ata G (AP SKH
(B) ©otd (I8 1
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B-25. GRGIE AGR (OB A HICT A | (@LifEe B-28. “GR1-siAl I 401" —GR-SiR *=io resife

mod FET ¢ Keofe 21— fojefar aeeT |
(A) i T Refe (A) GRawAl el (e TwE) [weAe
ECiER]

B) TR TR B) S e oml (5%)

(©) TR ISer (C) GRCTa OFI (T% O[T
(D) ToRSeulem My G (A0F TS (D) ofTTefn T Q@ (@ S
(B) Totad @ieaioe 1w (E) Toiad @iebE @

B-29. “foaf¥a 33 99, 2 @, G- 2”7

B-26. oa (@G (PIFam -9 T 73 2
— G- (I T2

(A) Teom
A) IR “@” fFrefe
(B) =m=t
B) iz FCF “9” [efE
©) o (C) TR “9@” [efe
(D) THAfCEafer e G (U v (D) TrRCwulm T G (A ST
(E) Toite (e wma (BE) Toitza @ieaifoz am

. B-30. % < O INFIPH
B-27. 2RI < 2N G R AR (i e SR ol ©

% A AR @ B e
A) =S @A) Rew
B) wffRRRe B) ==
(C) Tl < R (©) R

(D) ToRCSSR ey G (AT H
(B) Totaa @ieaifoe o

(D) ToRCeSR Ty G (AT F

(B) Totaa @iaifbe o
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31.

32.

33.

34.

35.

PART - 11

(GENERAL STUDIES)

Which of the following is the value of

(x+1/x)* ?

(A) x>+ 1/x°

B) x*—1/x?

©) x¥*+1x* +1

(D) More than one of the above
(E) None ofthe above

An article is at 10% more than the CP. If
discount of 10% is allowed then which of the

followingis right ?
(A) 1%gain

B) 1%]loss

(C) nogainno loss

More than one of the above
None of the above

D)
()

By what number should 81 be divided to get
a perfect cube ?

A) 3

B) 6

<© 7

(D) More than one of the above
(E) None ofthe above

The difference between two whole numbers
1s 66. The ratio of the two numbers is 2:5.
The two numbers are ;

(A) 60and6

(B) 100 and 33

(C) 110and44

(D) More than one of the above
(E) None ofthe above

In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.

(A) 30°

B) 45°

(C) o60°

(D) More than one of the above
(E) None ofthe above
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36.

37.

38.

39.

40.

The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm? s :

(A) 15cm

B) 17cm

(C) 19cm

(D) More than one of the above
(E) None ofthe above

If (3)"*! x (=3)°=(-3)’, then the value of m
is:
(A) 5

® 7
© 1
(D) More than one of the above

(E) None ofthe above

Ifx and y are inversely proportional, then:
(A) y/x=constant

(B) xy=constant

(C) x/y=constant

(D) More than one of the above

(E) None ofthe above

A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combinationis R, thentheratioR/R'is

(A) 1725

B) 1/5

(©) 25

(D) More than one of the above
(E) None ofthe above

An electric heater of resistance 8 QQ draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) More than one of the above
(E) None ofthe above

[=]g:



31.

32.

33.

34.

3s.

PART - 11

(GENERAL STUDIES)

fFrafaRea @ @ S A (x+1/x)2 wAARE ?
(A) x>+ 1/x°

B) x*—1/?

©C) x¥*+1/x* +1

(D) 3o & A0 A arfeen

(B) S awe i

Teh i@ €1t & 10% 3tferes W g | 3t 10%
Qe ol IgAfa & Al Frefefea A a s aadi @ 2
(A) 1%

B) 1%zf

(C) FAcmuag

(D) 3o & A0 A arfeen

(B) Sudwd & =g 7

qui o ITe A 3 fore 8 1 <Rt ok ween @ fernfsra
forn ST =nfRu 2

A) 3

B) 6

<© 7

(D) Sudw AU A Aferes

(E) Suder® & g &

31 qui GEE % e ot 3T 66 B | 3F1 aem
1 U 2:5 3 | i TEAmi §

(A) 6036

(B) 100 3w 33

(C) 110 s 44

(D) Suger d € T W 3iferh

(E) Suder® & g &

Tk TR Tgs ABCD #, %ot A 3iR shiut B
31U 1:2 2 | hiut A 71 <hifeTe |

(A) 30°

(B) 45°

(C) 60°

(D) Suger d € T | 3iferh

(B) S a e
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36.

37.

38.

39.

40.

T S S ekt Breen 7 @t @ st e
g gheT 968 AT R

(A) 153

(B) 17

(C) 193w

(D) 3o & A0 A arfeen

(E) Suderd & whig &

R (3)! x (-3)° = (3), A m A AR E?
(A) 5

B) 7

© 1

(D) Suda ® 8 TE A HAfeew

(B)  3wder o & g T

e x 3 y SR &, :
(A)  y/x=Teeris

(B) xy="Torm=

(C) x/y="Teeri®

(D) Suge @ AT A ek
(B) Sudwd & = T

uferier R ok forelt R o6 gehs oiel sRIeR Wi o e
A E | 39 geRel ot R ured shu | w3
£ | afe weem i gea gfedier R' 2 4t R/R' ™
A FIERT ?

(A) 125

B) 1/5

(C) 25

(D) 3o & A0 A arfeen

(B) Suger # 8 hrg

8 Q uferer =1 g ferega i frga A w2 w2
ah 1 5A Toregaem s 2 | et # seam ss R R
Fn Rt 7

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) ude & U A Afew
(B) Sudwd @ =i T
EZE

e [P.T.O.



41.

42.

43.

44.

45.

Which of the following lenses would you
prefer to use while reading small letters found
in the dictionary ?

(A) Aconvex lens of 50 cm

(B) A concave lens of 50 cm
(C) Aconcavelensof5cm

(D) More than one of the above
(E) None ofthe above

The human eye forms the image of an object
atits

(A) Cornea

(B) Iris

(C) Retina

(D) More than one of the above
(E) None ofthe above

Which of the following is not a part of the
female reproductive system in human beings ?

(A) Ovary

(B) Uterus

(C) Vasdeferens

(D) More than one of the above
(E) None ofthe above

The anther contains

(A) Sepals

(B) Ovules

(C) Pollen grains

(D) More than one of the above
(E) None ofthe above

Asexual reproduction takes place through
budding in

(A) Amoeba

(B) Yeast

(C) Plasmodium

(D) More than one of the above
(E) None ofthe above
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46.

47.

48.

49.

50.

Which one of the following types of medicines
used for treating indigestion ?

(A) Antibiotic

(B) Antacid

(C) Analgesic

(D) More than one of the above
(E) None ofthe above

The task of processing citizenship applications
under the CAA will be undertaken by

(A) Postal Department

(B) Census Department

(C) Central Security IB

(D) More than one of the above
(E) None ofthe above

In which of the following country India
launched its UPI ?

(A) Thailand

(B) Myanmar

(C) Mauritius

(D) More than one of the above
(E) None ofthe above

What is the name of space craft to be
launched by ISRO in 2024 to carry
astronauts ?

(A) Akashyan

(B) Gaganyan

(C) Bhramyan

(D) More than one of the above
(E) None ofthe above

Which country is not a member of G 7 ?
(A) Russia

(B) Canada

(C) USA

(D) More than one of the above
(E) None ofthe above

[=]g:



41.

42.

43.

44.

45.

Tereht vregenia ® for@ B2 31arl <l ugd |H g
= 7 A A e TEe w7

(A) 50 cm wiHE gl 1 ITA

(B) 50 cm wieHH gh w1 AR T

(C) 5 cm wishA gl 1 FTEAA

(D) 3o & A 0 A arfeen

(E) Sudwd & =g 7

Frferiaa ® © Tohe R W fohelt areg 1 Sfeitena
TEE ?

(A)

(B) uftaem

(C) grRuew

(D) Sudw | TR A Afw

() Swdwdawe

e da SR A SR T R AT AE g ?
(A) st o
(B) wwive

(C) yprenieet

(D) Sudw AU A Aferes

(B) Suger & 8 hrg T

(C) TR
(D) 3o & A U A arfeen
(E)  vofer & & g i

STATITR T Ghet- gRT gl 8
(A) orfen#

(B) dred

(C) wremfzamd

(D) 3o & A 0 A arfeen
(B) Suger # 8 hrg T
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46.

47.

48.

49.

50.

AU o TSR A o foTu fnm o | ferm aitafarem
ST AT R ?

(A) ufasferes

(B) ufdsra

(C) diserd

(D) 3o & A0 A arfern

(E) Suderd & g &

CAA & 1=t AnTiehan fskan o fote smaega ek
Freuren form o gt feman SR 2

(A) s favmgR

(B) <o fasm gr

(C) <hsiageen .. gr

(D) Sudew AUk A Al

(B) Suger # & hig &

e o @ form 3o @ wra A 3o UPT =i ferem
27

(A) uEeE

(B) wmwr

(C) wwm

(D) Sude AUk A Al

(B) Suger # & hig &

T g 2024 ¥ siaker At Afga 99 ae
STANEHT 1 AW 3

(A) ITRTEE

(B) wWHIW

(C) seEm

(D) Sudewd AT A Aferes

(B) Sudwd & =g 7

FMWMG T W EATETE R ?
(A) T

(B) @

(C) 3Tz

(D) Sudw AU A Aferes
(E) suger & whis T8

e [P.T.O.



51.

52.

53.

54.

55S.

56.

The process involved in achieving Green
hydrogen is

(A) Electrolysis

(B) Dehydrogenesis

(C) Dehydration

(D) More than one of the above

(E) None ofthe above

Which technology can be used to revise

deceased individuals ?
(A) Deepfake
(B) Al

(C) Chatbot
(D) More than one of the above
(E) None ofthe above

In cost of living index parameter 2024 which
country is better than India ?

(A) Nigeria

(B) Pakistan

(C) Bangladesh

(D) More than one of the above

(E) None ofthe above

Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?
(A) BirsaMunda

(B) RajendraPrasad

(C) SatyaNarayan Sinha

(D) More than one of the above

(E) None ofthe above

Which is the moon-like planet ?

(A) Mercury
(B) Mars
(C) Earth

(D) More than one of the above
(E) None ofthe above

On the basis of fossils which is the origin place
of man ?

(A) Riftvalleyof Aftica

(B) Central Asia

(C) Jerusalem

(D) More than one of the above

(E) None ofthe above
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57.

58.

59.

60.

61.

62.

In India dry point settlement is found in
(A) Flood prone area

(B) Bikaner

(C) Aravaliregion

(D) More than one of the above

(E) None ofthe above

In which district of Bihar Paddy crop

production is maximum ?
(A) Bhojpur
(B) Rohtas

(C) Nalanda
(D) More than one of the above
(E) None ofthe above

On which mountain is Tehran situated ?

(A) Alburz
(B) Zagros
(C) Makran

(D) More than one of the above
(E) None ofthe above

The highest peak in the Eastern Ghats of India
is:

(A) AnaiMudi

(B) Kanchenjunga

(C) Mahendragiri

(D) More than one of the above

(E) None ofthe above

Which of these statements is not a valid reason
for the depletion of flora and fauna ?

(A) Agricultural expansion

(B) Large scale development projects

(C) Grazzing and fuel wood collection

(D) More than one of the above

(E) None ofthe above

Inwhich district of Bihar silk textile production
is maximum ?
(A) Madhubani
(B) Bhagalpur
(C) Aurangabad
(D) More than one of the above
(E) None ofthe above
00|
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51.

52.

53.

54.

5S.

56.

R gEIgIeH I &1 i | AR ¢ ?
(A)  sorERTEtE

(B) <SrEgRHRE

(C) Fcieteo

(D) Sudwd AU A Afere

(E) Suder® & g &

1 H Tepten T S YRSHTe faen a8 2
(A) Sorm

(B) u am

(C) e

(D) Suger d | T W 3iferh

(B) Sudwd & =g 7

2024 3 Siifer Gk HTehet | hiF |1 391 WRd
Y ATHRE ?

(A) i

(B) Uik

(C) reTewt

(D) Sudw AU A Aferes

(B) Suger # & hig &

ferami & f2a | mefsht 3 1917 | =vura "geame
Toraer agama fomn an 2

(A) fowenguet

(B) g TER

(C) wemrE famg

(D) 3o & A0 A arfeen

(E) sugea @ g T8

TEHI AGYE U B ?
(A) T

(B) W

(C) uet

(D) Sude W UF | AfeH
(E) Suder®i A g &

SHETYH o HTR T A Icdi g hiA-HATE ?
(A) arshreRt < e arél

(B) weawivmEn

(C) <&Te™

(D) 3o & A0 A arfeen

(E) Suder®i A g &
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57.

58.

59.

60.

61.

62.

AT # yyeh foreg wreh fremeht 2
(A) e g d

(B) frwmd

(C) et wat

(D) Sudw AU A Aferes
(B) Suger # & hig &

forgr = form et ® e =t ScuTea Fanfares gl 2 2
(A) WS

(B) Tega™

(C) "=

(D) Suger d | T | 3iferh

(E) Suder® | g &

T fra vda m fem g 2
(A) veEs

(B) <wrw

(C) wwm=

(D) Sudw AU A Aferes
(B) Suger # & hig &

WA < i u1e hl ga@ S= =1 g -
(A) FEHE
(B) T
(C) wesfm
(D) 3o & A0 A arfeen
(E) Suderd & whig &
TR | HIA-HT HYA gt IR el <l e
YU HROTAG S ?
(A) Eg&ﬁﬁr«na
(B) Fee tuH W AsTIa o forem
(C) =g 3R AT il TAehgl i Ushefierur
(D) 3o o A0 A arfeen
(E) Suderdi & whig &
forgr o form et ® Yomdt o =kt IcuTea weTieeR
Trag ?
(A) g
(B) wmeTqR
(C) sirmamg
(D) 3o & A0 A arfeen
(E) Suderdi & g &
EEE
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63. Who was the viceroy of India during the 67.

Jallianwala Bagh massacre ?

(A) Lord Curzon
(B) Lord Chelmsford
(C) LordIrwin
(D) More than one of the above
(E) None ofthe above
68.
64. The first President of the Indian National
Congress was:
(A) Dadabhai Naoroji
(B) W.C. Bonnerjee
(C) Badruddin Tyabji
(D) More than one of the above
(E) None ofthe above
69.
65. 'Who among the following is also known as
the Grand old man of India ?
(A) Bal Gangadhar Tilak
(B) Dadabhai Naoroji
(C) Gopal Krishna Gokhale
(D) More than one of the above
(E) None ofthe above 0.

66. Which of the following movements was
started by M. K. Gandhi ?

(A)  Quit India Movement

(B) Non cooperation movement

(C) Swadesi movement

(D) More than one of the above

(E) None ofthe above
13/HV/M-2024-28/HS-528-E 20

Who was the leader of the Bardoli
Satyagraha ?

(A) Sardar Vallabhbhai Patel
(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None ofthe above

Who among the following is not associated
with Home rule movement ?

(A) Annie Besant

(B) Bal Gangadhar Tilak

(C) Sarojini Naidu

(D) More than one of the above

(E) None ofthe above

Who founded the Bihar provincial congress
committee in 1920 ?

(A) Dr. Rajendra Prasad

(B)  Anugrah Narayan Sinha

(C) JaiPrakash Narayan

(D) More than one of the above

(E) None ofthe above

The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership
of :

(A) Dr. Rajendra Prasad
(B) Jai Prakash Narayan
(C) Swami Sahajanand Saraswati

More than one of the above

D)
(E) None ofthe above

EEZE
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63.

64.

6S.

66.

HAfAITATA ST IS h SR WRA T STHETT S
qr ?

(A)
(B)
©
(D)
(E)

s
TS ST

S e

S it A T &
o A A T

AR T I & Tget ieaer 9 -
(A) e RS

(B) ==, ®. Al

(C) =eEan deaastt

(D) Sudw AT A Afre
() SwdwdawE

Frataftaa & @ foraent “fug sitee &7 sw sfear’
F Y TS ?

(A)
(B)
©)
(D)
(E)

e TER foeTeh
EERERIE]
TITE ST TG
Suger | A Uk A sifern
SugeR A A R A

FraforRaa # & %A | 31igeH T, &.TTEh gR s
e ?

(A) WRABIS! R

(B) @A e

(C) eyt argrerm

(D) s # @ wh A afrs
(B) Sudwd & =g 7
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67.

68.

69.

70.

TG TR Tl el i AT ?
(A) TERTGH WIS wee
(B) s TmeR foeren

©)
(D)
(E)

AT ATA A6
Suderd | | U W Afeen
ERREER R

Frafeien # | ®F W & STigeH | arag TE
ar ?

(A)
(B)
©
(D)
(E)

o fawie

A TR Feieteh
RAERIRLCH
Iuger | ® U | I
IR H A T

oREm 1920 3.  forgR TIGToTeR shitkd SRSl hi T
ot ?

(A) =TSR R

(B) ey v fern
(C) STIHIIT ARTIOT

(D) Sudew AT A Afre
(B) Sudwd & = T

1936 # stftaet e foram | (T, 318, . )
& worrorT fargr # ferereh A ® g3 oft ?

(A) =i T TR

(B) T SRS ARI0T

(C) o Tg=Ig wEad

(D) Suger d | T | 3iferh
(B) Sudw A A e
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PART - III
(BUSINESS STUDIES)

71. The main disadvantage of a general 74. Which one is NOT an advantage of Sole

partnership is Proprietorship

(A) The unlimited liability of the partners (A) You are your own Boss

(B) Disagreement amongst partners (B) Youkeep all the profits

(C) Shared management (C) You have maximum privacy

(D) Establishing and operating your

(D) Difficulty of termination : .
business is simple

(E) Limited liability of the partners (E) It difficult to change your legal

structure later
72. The Simplest form of business ownership
15a : 75.  Which is NOT a Disadvantages of Private
Limited Company

(A) Proprietorship
(B) Partnership (A) Complex Accounts
(C) Corporation (B) Shared Ownership
: (C) Lack of Flexibility
o e (D) Personal Financial Liability

(E) None of the above
(E) Ease of Raising Capital

73. In a cooperative society,the principle

followed is 76. In case of , registration is

compulsory.

A Man Multiple Vot
(A) One Man Multiple Votes (A) Sole Proprietorship

(B) One Man One Vote (B) Partnership

(C) One share,one vote (C) Company
(D) No vote (D) Joint Hindu Family Business
(E) None of the above (E) None of these

EEE
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PART - III
(BUSINESS STUDIES)

71. wmra (General) HTEER &1 &I JHAH 74. -1 AT T (Sole Proprietorship)

HA-AR? AL L?

(A) wTier! i srehfie dam (A) 3Ta 3T T o wifeTR §

(B) wwiteri < =ftar srgmfa (B) sma @i eny wEa §

(C) wwEnwEeR (C)  3Ta uTe Srfereran ToHaT §

(D) e <Rt hisTS (D) m;ﬂﬁmwﬁamaﬁ!wﬁam
A

(E) virfiert < Ziifem e ) )
(E) =g H 31U S g ohi SgetT Hivehat &

72. HEEE T T HE T TG hiA-E1g ?
75.  wA-unEae frfiee wodt 3 Jeam T €

(A) wnfuea

(A) wfaEm
(B) wEwEd

(B) En T
(C) fm

(C) Teiiciu et
(D) e

(D) =afea ferfia e
() wfmiid -

(E) Y Jer | S

73. Uk EgHN AHS |, THiA—a1 fagia o ure ferm
A R 76. % AR §, UeieRtuT sThET g
(A) U 3TaHI &3 e (A) UwuTH T
(B) U e U |e (B) wEEmd
(C) THAR, THAE (C) st
(D)  hig dlte T (D) g fig aftam sremm
(E) sudw © 9 =& (E) i awg e
[=]#% =]
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77.

78.

79.

A is a person who provides
some of the capital for a business but who
does not take an active part in managing
the business.

(A) InActive partner
(B) Sleeping partner
(C) Nominal partner
(D) Secret partner
(E) Active partner

Which of the following are Not indirect
taxes

(A) GST

(B) Sales Tax

(C) Service Tax

(D) Income Tax

(E) None of the above

A partner who allows the partnership firm
to use his/her name but does not contribute
any capital or take part in the management
and affairs of the business is

(A) InActive partner

(B) Sleeping partner

(C) Nominal partner

(D) Secret partner

(E) Active partner
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80.

81.

82.

A ~_____ partner is an invested

person who is involved in the daily
operations of the partnership

(A) InActive partner
(B) Sleeping partner
(C) Nominal partner
(D) Secret partner
(E) Active partner

Insurance Regulatory and Development
Authority of India was founded in the year

(A) 2000
(B) 1999
(©) 1996
(D) 1990
(E) None of the above

Requirements for registering a Public
Limited Company

(A) Minimum 5 shareholders

Minimum 7 shareholders

(B)
(C) Minimum 10 shareholders
Minimum 6 shareholders

(D)

Minimum 8 shareholders

(E)



77. TH og SAfer 8 W e o fore 59 80.

78.

79.

Goft U AT @ SAfeRe ST o TeeE § |fsha
T T et 2

(A) TSk aweh
(B) i gueed
(C) rawm Rt et
(D) 7wl

(E) wfsha wmeft

FrfoTReaa ® § M STt FTE 8 ? 81.

(A) Shwa#d
(B) feshrem
(C) wm=
(D) 3=

(B) Swdea #a e

Teh WRTIGR S ATHSRI TH i 379 ATH h1 STIRT
A <ht srafd 3 8, wifeR fereht oft oht 1 e
TE AT 2 T STIEE & TEUA IR ATHAT | WHT
T g

(A) s oeht
(B) i guemedt
(C)  =rwmm= s wedt
(D) Tl

(E) wfrawneh
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82.

Les HriER Uk FalfvTa saer @ ST Hgient
% 3R HaTe | I 2

(A) Tifska oneht
(B) idguemed
(C) AraEmE et

(D)
(E) wfrawneh

WA =i s 21R fererm Tiferemon <ht Tt
o6 | <R TS off|

(A) 2000
(B) 1999
(C) 1996
1990

(D)
(B)  3oder o & g T

ufsereh forfie <ot o UiieruT o foTe smmarerehamg
(A) AW 5 FERUWE
(B) w7 e
(C) =gam 10 Srereeh
(D) 3w 6 FrRETh
(E) —daw § IeRuRh

e [P.T.O.



83. Minimum Number of members a Private 86. Investment in Equity Shares is?

Company should have?
(A) Profitable
(A) 5
B) 2 (B) Least Risky
©€) 6 (C) MostRisky
(D) 7 (D) Non-Profitable
(E) 8 (E) None of the above

84. Equity Sh ?
quity Shares are 87. Share Warrants are issued by which

(A) Non-redeemable company?

(B) Redeemable (A) NGO

(C) Non-Transferrable (B) Co-Operative Society
(D) Transferrable (C) HUF

(E)  None of the above (D) Public Ltd.Company

(E) Private Company

8. A , normally known as ordinary
share is a part ownership where each
member is a fractional owner and initiates

the maximum entrepreneurial liability 88. Which of the following are Short Term
related to a trading concern. Finance?

(A) Cumulative Preferred Share (A) Loan

(B)  Preferred Share (B) Bank Overdraft

(C) Equity Share (C) Mortgage Loan

(D) Bonus Share
(D) Bonds

(E) Convertible Preferred Share
(E) None of the above
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83. U fshi shuHt o HeEAl hi =R HEAT = g 86.

=fee?
(A) 5
(B) 2
) 6
(D) 7

(E) 8

84. sferdt (Equity) IrReFE?

87.

(A) R-ufeea

(B) widea

(C) Tr—geiawta
(D) gwawiE

(E)  vofer & & g i

85. , & AR W AR IR & w9 |

ST AT 8, ek SATYTeR Taiiieal & el T Heed 88.

Teh AR AifeTeh § 3T Ueh samaieh foran & wafem
arfereran Sermviieran gifeiea < yr6aiTd s 2

(A) e S
(B) wedmorm
©) shrdim
(D) SFEIER

(E) oot aediar orR
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gfrdt (Equity) 9ei 8 Fraw e @2
(A) cnvEREH

(B) WY %W ARGH AT

(C) =™ fereh sifem ae

(D) R-enweRd

(B)  3uder o & g T

IR AR fore o gRT T fohg ST 8 2

(A) wsisn

(B) weerwfufa

(€) w=yT®

(D) uferes fafirse st

(E) Fehah

e o @ wim-wn sreuemferss fom (Short Term

Finance)

(A) =m

(B) & slrRgR
(C) e m

(D) dis

() Swder o & g T

[z [E]
- 1
[=] s

[P.T.O.



89.

90.

91.

Where was the first stock exchange set up
in India?

(A) Delhi

(B) Calcutta

(C) Bombay

(D) Bangalore

(E) Not at any of the above cities
Net profit is the

(A) AMOUNT of money your business
earns before deducting all operating,
interest and tax expenses over a given
period of time

Profit a business makes before
subtracting all the costs that are
related to manufacturing and selling
its products or services

(B)

(C) Amount of money your business
earns after deducting all operating
and tax expenses over a given period

of time

Profit a business makes after
subtracting all the costs that are
related to manufacturing and selling
its products or services

(D)

(E) Amount of money your business
earns after deducting all operating,
interest and tax expenses over a given

period of time

How can a member resign from a
cooperative society?

(A) Withdrawing his capital

(B) Transferring his share to another
person

(C) Transfer his shares to a fellow
member.

(D) By transferring all his shares to his
relatives

(E) None of the above
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What are the Requirements for Registration
of'a Public Limited Company?

(A) Minimum of 3 Directors are required
to form a Public Limited Company
(B) Minimum of 2 Directors are required
to form a Public Limited Company
(C) Minimum of 4 Directors are required
to form a Public Limited Company
(D) Minimum of 6 Directors are required

to form a Public Limited Company

(E) None of the above

United Nations Conference on Trade and
Development (UNCTAD) has its
headquarters in

(A) Tokyo, Japan

(B) Geneva, Switzerland
(C) Venice, Italy

(D) London, UK

(E) Lisboa, Portugal

Which of the following statements is false.

(A) Depreciation expense is recorded on
the income statement as an expense

or debit, reducing net income

(B) Accumulated depreciation is not
recorded separately on the balance
sheet. Instead, it's recorded in a contra
asset account as a credit, reducing the

value of fixed assets

(C) A normal depreciation account is a
credit, in nature since it is an

expenditure

(D) Depreciation is an expense to
business and therefore, it is nominal

account
All are False
[=]#% [=]

[=]g
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89.

90.

91.

e e e werersie ave wenfir foea
are

(A) fecht

(B) e

(©) =

(D) iR

(B)  vofarm forht oft ree

3§ @9 (Net Profit) s g ?

(A) e Ffvaa srafer o wdft ufemem, s 3R
TSI U eI i H Uge 3TUh SHad™
TR AR o R AR

Ueh ST 3T 3caTa! A1 A3t o Ao
AR fersht @ wafem wsft A & aer &
TE ITH AT &

ws Fifvaa srafa @ asf ufamer sk &
Tl il UZH % 918 AUk sTa@™ gl
Frfsta e Y v

Tk SHEEE 31U IedTGl a1 e o fmion
3R forsht & Hafea a4t @t i ge™
1S H HATT 2

e fAfgera srafer & wvit ufiemew, sa= 3t

T hl U o =G SATUeh SHaH ™ gRT
it em SR afn

(B)

(©)

(D)

(E)

Uk UEd Agehi Afafa @ Seditht 8 Q Geran 2 ?
(A) 7ot gst FeRer

(B) s foch it Forelt a7 safirmr it
CXCI

31U fZa ! feret wneft wewa =it geatana
AT

ST TR IR ST RYSER! o gl ek
Iuger | A IS T8

©

(D)
(E)
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92.

93.

94.

Tfeeteh foAfHeS SOt oh USTIeRtuT o o1l TaTgaehaly;
(A) ufeeTeh foifHee SRt T 3 ToTe =aw 3
Frgorent &t strerwaeRaT gt @

gfseten forfiree short o 3 fore =mam 2
fravrent <R sTTagTeRdT Bt @

ufseres ferfiree ot s < foru =gmam 4
Frevrent <A sTTergTeRaT gt 2

gfseten forfiree short T 3 fore =mam 6
fravrent <R sTTagTeRdT Bt @

Suger H B g T

(B)

©

(D)

(E)

=R AR fawE ur agFd ag wmed
(UNCTAD) =t q&amera el 8 ?

(A) RN, AUEH R
(B) foen, feergreete
(C) afFm,geeh
(D) e, forew
(E) fewshian, gimmer

fefeRea i @ - weA Tea g ?

(A) Heasm =aa i o forawun w s = 3o
&Y | g feRat ST 8, oo vIg 3T e
RIS

i Jeae@ ol geuT W ST | ot
T o e 31 3 =, 39 O gy
Rl @ H shige o 0§ gt fohan ST
2, R sree uftEutEt =t gea a0 2@
AR

(B)

AW Jeagtd WTal Yehid § U /T ¢
Fifeh I Uoh =99 3

©

Teg™ o™ & fore us === g iR
FTCTT, AZ Ueh ATHHTS Wl 3

(B) wfges
EE
o

(D)

[P.T.O.



95. WTO has its headquarters in 98. WTO was founded on

(A) Florence,Italy (A) 1 January 1985

(B) Geneva,Switzerland (B) 1 January 1995

(C) Venice,ltaly
(C) 1 January 1975

(D) London,UK
(D) 1 January 1982

(E) Lisboa,Portugal
(E) 1 January 1989

9. A is an area in which the
business and trade laws are different from 99. How many members does WTO have
the rest of the country
(A) Special Economic Zone (A) 163
(B) Shaded Economic Zone (B) 164
(C) Surreal Economic Zone (©) 151
(D) Solid Economic Zone (D) 161
(E) Solified Economic Zone (E) 165
97. India was one of the first in Asia to
recognize the effectiveness of the Export 100. Which country does not have a bilateral
Processing Zone (EPZ) model in promoting trade agreement with India

exports,with Asia's first EPZ set up in
(A) Thailand

(A) Kandla

(B) Noida (B) Japan
(C) Cochi (C) Malaysia
(D) Chennai (D) Pakistan
(E) SEEPZ (E) Srilanka
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9s.

96.

97.

forva =R w@wea (WTO) o Jeamer #ai 8 ?
(A) weliE, geelt
(B)  foran, fragmets @
af, seeht
e, T

fereatien, gamer

©
(D)
(E)

U U g @ e s eiR smr
T 39 SRt feeell | a1 2

(A) oo snfelen &=
(B) wwifeha arfieh &t
(C) orforameatas il &=
(D) 3 Ffeles g
(E) difera snfefes e

Wi frata it agEen A | Fata sewwo 8=
(3 dt SI) Aiger H IHTEHeTaT Tl Ug=A aret
TfYTE % Uge 29Tt § A Uek o, foraw ufdrEn i ugen
3 SE (EPZ) wafd?

(A) HEen

(B)

(C) ==

(D) ==8

(E) wagsdtwe
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98.

99.

100.

farva =R (WTO) wtea 6t wemaan
I gS AR

(A) 1<l 1985
(B) 1wl 1995
(C) 1wl 1975
(D) 1 vFad 1982

(E) 1 <er 1989

forva =R weA (WTO) o feram see 82
(A) 163
(B) 164
(C) 151
(D) 161

(E) 165

forer 291 =t WRa < T fgmefim =smaw (Bilateral)
TS TE 2 ?

(A) e
(B) <mum

(C) weifvrm
(D) e

(E) e

[P.T.O.



101.

102.

103.

104.

focuses on granting rights to
use intellectual property

(A) Franchising

(B) Licencing

(C) Exporting

(D) Importing

(E) None of the above

Which out of the following is NOT a
principle of insurance

(A) Utmost Good Faith
(B) Insurable Interest
(C) Indemnity

(D) Subrogation

(E) Loss Maximization

Which of the following documents
are NOT for the Export of Goods

(A) Cargo Release Order

(B) Foreign Exchange Control Form
(SDF)

(C) Terminal Handling Receipt

(D) Importing

(E) Technical Standard Certificate

is when one company agrees
with another to produce components or
products over a specific timeframe.

(A) Licencing

(B) Contract Manufacturing
(C) Franchising

(D) Wholly owned subsidary
(E) None of the above
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10S.

106.

107.

108.

Which is not an example of cottage
industry?

(A) Cotton Weaving
(B) Silk Weaving
(C) Metal handicrafts
(D) Fishery

(E) Artisanal crafts

Which type of retailer provides door-to-
door services to their customers?

(A) Street traders

(B) Convenience store
(C) Peddlers and hawkers
(D) Speciality

(E) Artisanal store

Madhubani art is from which region of
Bihar?

(A) Samastipur Region
(B) Begusarai Region
(C) Mithilaregion

(D) Champaran East
(E) Champaran West

Which is not a primary function of
Commercial Bank

(A) Paying and Collecting the credit

(B) Purchasing and selling of the
Securities

(C) Bullion Trading

(D) Money Remittance

(E) Issuing Currency

[=]g



101.

102.

103.

104.

Hifiger |uar (Intellectual Property)
o ITAN o RN TS A T ehiga 8

(A) vremstw (Franchising)
(B) wmgEtER (Licencing)
(C) f=ia (Exporting)

(D)
(E)

& (Importing)

IR | @ RIS T

FrafeRaa ® | ®= s =1 frgra (Principle)
TR

(A) ol fagam

(B) <urn s

(C) e

(D) e

(B) @i sifereranerton

freferRam # & T qEda aeqai % Fata s
feruTdize

(A) =it feefre st

(B)  ferewit g oo wid (Tedins)

(C) ehirerdsfom wiig

(D) @@

(E) TehHichl WIFeh SHTOTIS

TS B 2 ST Uk Shu 1 Uek: iy wwa
Hiu H ekl A1 ATl 1 IedATeH A ok forg gER
* T T g 2|
(A) e
(B) i frgtaratin
(C) Vremgfom
(D) vl wHe arel disast

(B)  Soder o & g T
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105.

106.

107.

108.

w-a1 FER 3T (Cottage Industry) =
S 27

(A) HRTTE
(B) TwmTE
(C) e gwafied
(D) we=dew
(E) HrR ¥eq

Torm wrerm =1 e fershan 31a TRl o ER-Z-ER
[EATE IS FIATR ?

(A) egsd

(B) witred wR
(C) it 3 Fframer
(D) vt

(E) i <hr gem

‘nyat e’ foRR % fopm e A 2 e
(A) e e

(B) =iEwE &

(C) faferemem

(D) wuRUrgd

(E) <ururdfyem

S anforferes S (Commercial Bank) = oreifaers
RiERE]

(A)
(B)
©)
(D)
(E)

O SR YA 3R TUE AT
afafoat ht Tlig 3R foeht
TR AR
BERE L]
TG AR HEAT

EE

e [P.T.O.



109. Every company which needs to comply
with the CSR provisions have to spend

(A) 2% of the average net profits made
during the preceding 3 years as per
the CSR policy

(B) 1% ofthe average net profits made
during the preceding 3 years as per
the CSR policy

(C) 10% of the average net profits made
during the preceding 3 years as per
the CSR policy

(D) 15% of the average net profits made
during the preceding 3 years as per
the CSR policy

(E) 20% of the average net profits made
during the preceding 3 years as per
the CSR policy

110. MRP Stands for

(A) Maximum Retail Price

(B) Minimum Retail Price

(C) Minimum Retained Profit

(D) Maximum Retained Profit

(E) None of the above

111. E-tailing stands for

(A) Entrepreneurial Retailing

(B) Ecological Retailing

(C) Electronic Retailing

(D) Efficient Retailing

(E) None of the above
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Which is not a function of management

(A)
(B)
©
(D)
(E)

Planning
Staffing
Controlling
Organizing

Trading

The ideal current ratio,according to the

industry standard is

(A) 3:1

(B) 11

©) 2:1

(D) 4:1

(E) None of the above

are true to their name by

carrying a deep assortment of brands, styles,
or models within a relatively narrow

category.

(A) Convenience Store
(B) Speciality Store
(C) Supermarket

(D) Mom and Pop

(E) None of the above

[=]g



109. w3k hut 78 CSR Traer=i st Utetd st <hl 112. st v=@gA s (Function) T8 @

SR 2, 3
(A) Faem
(A) CSR Hifd & srHER U 3 et & IRE
foru T aitea g T R 2% - ,
(B) CSR ifet % s3em fusat 3 awt & A ’
fore U sita v ow W 1% @9 (C) T
ar"‘ -
(D) =
(C) CSR ifc % R fusat 3 ast & dRm
o T sirerm ypg e 10% (E) =mm
(D) CSR Hifat & s1HER Uz 3 ot & IRA
foru U sitea y1g T R 15%
113. SEmuF®® S
(E) CSR i i orgem frwet 3 i ¥ 4w T % TR AT T S 4
feru T aitea wg e R 20% A 31
B) 1:1
110. wa 3Rt (MRP) o1 31df s @ 2
©) 2:1
(A)  iferhan geu e
(D) 4:1

(B) e Qe 4o
(C)  mam wfvenfa e (E) Suderdi & whig &

(D)  atfereran afeenfia e

(E) Sugjer @ g T 114. STULTTRA TR0t Ut ok Yfier s, Sifera
T HTSAL Shl Ueh T ST(eRTUT Shleh 30 ATH o feTg
@ g
111. 3-2femem el )
(A) w=hfEmwEr
(A) Geitem fefm
, (B) wmRdwR
(B) seRrcAitoteher fefem
(C) ot Refem (©) g
(D) tuftsRmge fefem (D) wiw 3iR ufa
(E) Sugama# & i & (E) Sugera 8 e
EEE
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115. play a vital role in giving credit 119. The oldest Public Sector Bank of India is
access to the poor and this is extremely

crucial in poverty alleviation (A) State Bank of India

(A) BHG (B) Allahabad Bank
(B) LHG (C) Andhra Bank
(©) DHG (D) Bank of India
(D) SHG

(E) Canara Bank
(E) None of the above

116. Which of'the following cannot be classified 120. LIC was founded on
as an objective of business? (A) 1 September 1956
(A) Investment

(B) Productivity

(B) 30 January 1992

(C) Innovation (C) 1 January 1947

(D) Profit Earning (D) 16 August 1955

(E) Earning Revenue (E) None of the above
117. RBI was established on 121. EXIM Policy is also known as

(A) 1*April 1934 (A) Monetary Policy

(B) I**April 1935 (B) Foreign Trade Policy

(C) 10" April 1932 (C) Commercial Policy

(D) 5"August 1943 (D) Fiscal Policy

(E) None of the above (E) None of the above
118. Who is the present Governor of RBI? 122. Tertiary Sector includes

(A) Dr. Bimal Jalan (A) Agriculture

(B) Shri Shashikanta Das (B) Services

(C) Dr. C. Rangarajan (C) Processing of Material

(D)  Shri K.R. Puri (D) All of the above

(E)  Shri A. Ghosh (E) None of the above

O[0]
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115.

116.

117.

118.

TS i ShTSe TR g4 H HEeTqul
fvrer frran 2 iR g T 39ge H Segg Heegul
2

(A)
(B)
©
(D)
(E)

BHG
LHG
DHG
SHG

Suger H B g T

Fraforiaa # @ fore e & Seva o wu A aficRa
T fr w2 ?

(A) Fam

(B)  3cameshat

(C) =amm

(D) e 3fia e
(B) = it s

RBIfzomm  wrgged
(A) 1 8=t 1934
(B) 1 st 1935
(C) 10 st 1932
(D) 5 smwa 1943

(B)  3wder o & g T

WA RS deh &% TdqH TaR
(A)
(B)

=i fomet et
ot vTviieRTd g
(C) .. TRem
(D) oft. .3 git
(E) sh.u o
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119.

120.

121.

122.

WA Tk S < TaTd GUHT Sieh Shiq—1 g ?
(A) wRdEwReEd®

(B)
©)
(D)
(E)

FATEIEG, ik
Y ek

Seh IATE SFSa
& Sk

RS i T o o i g o 7
1 fr|sr 1956

30 St 1992

1 SAalt 1947

(A)
(B)
©
(D)
(E)

16 3w 1955
IuHe § § g TEl

ufere Uifere st &% T 9t ST AT
2

(A) wifgeiid

(B) frw=amwHifa
(C) nforfoers A
(D) TRt Hifa
(E) Suderdi & g &

Telrereh = ® et 2 :

(A) =

(B) =

(C) w1 TEERT

(D) SwF @

(B) 3odem @ =
EE

e [P.T.O.



123.

124.

125.

126.

The formula for Break Even Point (Units)is
Fixed Costs + ( — Variable
Cost per Unit)

(A)
(B)
©
(D)
(E)

Cost per Unit
Revenue Per Unit
Sales per Unit
Volume per Unit

None of the above

Anmol purchased a bike for Rs.75,000 and
he sold it for Rs.55,000. The loss percentage
incurred by him is

(A) 24.00%
(B) 40.00%
(C) 33.33%
(D) 26.67%
(E) 15.66%

Monika takes a loan of Rs. 10,000 from a
bank for a period of 1 year. The rate of
interest is 10% per annum.Find the interest
and the amount she has to pay at the end of
a year.

(A) Rs. 9,000
(B) Rs. 10,000
(C) Rs. 11,000
(D) Rs. 8,800
(E) Rs. 7,900

Which district of Bihar has the best
economy.

(A)
(B)
©)
(D)
(E)

Munger
Patna
Nalanda
Aurangabad
Araria
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127.

128.

129.

130.

Comparative advantage is an economic
theory created by

(A)
B)
©)
(D)
(E)

David Ricardo

Amiya Kumar Bagchi
Adam Smith

Ohlin and Heckscher

None of the above

Social responsibility is a firm's recognition
of

(A)
(B)
©)
(D)
(E)

Revenue Making
Profit Making
Growth

Social Obligation
All of the above

ADR stands for
(A)
(B)
©)
(D)
(E)

Asian Depositary Receipts
American Depositary Receipts
All India Depositary Receipts
Anti Depositary Receipts

None of the above

Which out of these is not a principle given
by Henry Fayol

(A)
(B)
©)
(D)
(E)

Renumeration
Self Esteem
Subordination of Individual Interest
Unity of command
Unity of Direction
[=]#%[m]

[=]g



123.

124.

125.

126.

Wk 3o wEEe (3FTEa) o fore gy Fifvem
+ ( — uf zertg uftada @)
H|

(A) a3t oA

(B) ufe gerte T

(C) uifd gents fersht

(D)  armEe i 3ot

(B)  Soder o & g T

FFEA A 75,000 TUA | Uk Ergfehet @l 3R
I 38 Rs. 55,000 & ==t feam) 3@k gwn v
T THE o T(9Ta 2

(A) 24.00%
(B) 40.00%
(C) 33.33%
(D) 26.67%
(E) 15.66%

Hif-eh1 Uk AT St 31afer o fete ues S & 10,000
A RO AN 8| FEH T 10% R A
=TS TireTan 21 Uk o ok 31d ® 38 sAT= 3R i
TR AT THEAT 8, FHRT Ul oI

(A) 9,000

(B) 10,000

(C) 11,000

(D) 8,800

(E) 7,900

forgr < form et Y srelerawen wa@ sresi @ ?
(A) TR

(B) wem

(C) =

(D) eirmeme

(E) omafm
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127. geATcHeh T

GRS TR Uk, 37feieR
g2l

(A) frsfe=

(B)  ciferen FuR SRTR

(C) uenfem

(D) sirgfer iR TR

(E) Swdwdawed

128. AMIRTeR ST Ueh W <hl HIFIAT @

(A) TS T
(B) wmwwAEE

(C) forehm

(D) st et
(E) voder st

129. uEimRE Aed @

(A)  ufvrer feuited wid

(B) swifh feuifored whd
(C) iRae vt feuitsred wite
(D) W feuitored wie

(E) Sudder & g T

130. 37 & -1 g Seier g e e g @

(A) o

(B) sncaEmE

(C) =aferma fga o srefiman
(D) 3Tt & Tehel

(E) fawnshiusran

e [P.T.O.



131.

132.

133.

134.

Father of Scientific Management is

(A) FW Taylor

(B) Adam Smith

(C) Abraham Maslow
(D) Henry Fayol

(E) None of the above

Which is NOT a Type of Liquidity Ratio

(A) Current Ratio

(B) Quick Ratio or Acid test Ratio

(C) Cash Ratio or Absolute Liquidity
Ratio

(D) Return on assets

(E) Net Working Capital Ratio

is the percentage of sales left
after accounting for COGS as well as
normal operating expenses (e.g.sales and
marketing, general expenses, administrative
expenses)

(A) Gross Margin

(B) Operating Margin
(C) NetProfit Margin
(D) Cash Flow Margin
(E) None of the above

is a successor to VAT used
in India on the supply of goods and
services. It is a comprehensive, multistage,
destination-based tax. comprehensive
because it has subsumed almost all the
indirect taxes except a few state taxes

(A) GST

(B) Sales Tax

(C) Service Tax

(D) Income Tax

(E) None of the above
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135.

136.

137.

138.

The index value of the base year is
conventionally set to equal

(A) 10

(B) 100

(C) 1000

(D) 1

(E) None of the above

A shopkeeper sold an article for Rs. 180
by making a profit of 20%. If the
shopkeeper offered a discount of Rs. 30 on
the marked price then what is the marked
up percentage.

(A) 20%
(B) 25%
(C) 40%
(D) 50%
(E) 15%

GANG Plank is associated with which of
the following

(A) Equity

(B) Order

(C) Scalar Chain
(D) Initiative

(E) Remuneration

A leadership style that is characterized by
individual control over all decisions and
little input from group member is

(A) Democratic
(B) Autocratic
(C) Lassez Feir
(D) Contingency

None of the above

[=]g

(E)



131.

132.

133.

134.

ek wee (Scientific Management) S <iHeR

2

(A) THEZ, TN
(B) uen ey

(C) orsgw ARH
(D) T

(E) Suger # & hig &

S AT STIUTA Sl Uk TR & 2
(A) T U
(B) vafta TuTa =1 3TFA Tterut U
(C)  ehe ITUTA =1 YOI A SHTAT
(D) uftEufEt w afawe
(E) g it g5l sium
COGS & \r1-a1el A UREeH
@l o ToT0 SRaTeR o =12 ==t fafshl ot Ufavrd 21

(e.g., sales and marketing, general
expenses, administrative expenses)

(A) wwAWRH
(B) uferem wis
(C) ggEmwH
(D) ehd} g HiviA
(E) sudwd @ =i e

WA § TEGIAT SR T3 Rt AR W
IUART foh S AT G2 At IANIEERRI 2| 98 Ueh
S, TEEAE, T — STTRA 3 g : STUh iteh
AU TS TST il hl DIGHT THIHT T 3T
o ot e feman T 21

(A) shwad
(B) frsR=
(C) F=naw
(D) R

(B)  3wder o & g Tl
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135.

136.

137.

138.

YR Y 1 GEAhTeh Yod URUNE & &
(A) 10

(B) 100

(C) 1000

(D) 1% swrer Fifia fran s 2

(B)  3wder o & g T

T THMGR A Teh a&g it 20% 1 T FHARR
180 wwa # o= famn| =fg gerer feifa qea w
30 T Y e <l UTRIT el @ ot Faf=ga faera
FE?

(A) 20%
(B) 25%
(C) 40%
(D) 50%
(E) 15%

T (GANG) wieh fAferiaa ® | fored gafa
22

(A) shed

(B) &

(C) wher=A

(D) 3hfmfea

(E) ¥ommagsigene

T Aqea Velt s |t FHuiEt w st FEs
3R Tg % Hewdl @ %W 3 I vt g, ag @

(A) wewrit®

(B) figm

(C) o

(D) SR

(E) Suderdi & whig &

e [P.T.O.



139.

140.

141.

Which amongst the following is NOT
under the Rural Development Scheme of
the government of India

(A) PM Awas Yojana

(B) Mahatma Gandhi National Rural

Employment Guarantee Act
(MGNREGA)

(C) Pradhan Mantri Awas Yojana
Gramin (PMAYG)

(D) Pradhan Mantri Gram Sadak Yojana
(PMGSY)

(E) Deen Dayal Upadhyaya Grameen

Kaushalya Yojana (DDU-GKY)

The General Agreement on Tariffs and
Trade (GATT) which was signed in 1947,
is a multilateral agreement regulating trade

among  countries
(A) 151
(B) 157
(C) 153
(D) 131
(E) 135

Which of the following is not a warehouse
type

(A) Distribution Centres
(B) Fulfillment Centres
(C) Cold Storage

(D) Bulk Storage

(E) Mom and Pop
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142.

143.

144.

The Securities and Exchange Board of India
was constituted as a non statutory body on:

(A) 11*April 1990
(B) 12" April 1988
(C) 5" June 1988
(D) 9™ April 1991

(E) 20"May 1990

Which of the following is not UN
Sustainable Development Goal

(A) No Poverty

(B) Zero Hunger

(C) Quality Education

(D) Action on Deforestation
(E) Climate Action

Which Salient features of MSMED
Act.2006 mentioned below is FALSE
(A) Manufacturing enterprises have been
defined in terms of Investment in
plant and machinery (excluding land
& buildings) as under Micro
Enterprises- Investment up to Rs.30
lakh

Manufacturing enterprises have been
defined in terms of Investment in
plant and machinery (excluding land
& buildings) as under Micro
Enterprises-Investment up to Rs.25
lakh

Manufacturing enterprises have been
defined in terms of Investment in
plant and machinery (excluding land
& buildings) as under Small
Enterprises-Investment up to Rs.25
lakh & up to Rs.5 crore
Manufacturing enterprises have been
defined in terms of Investment in
plant and machinery (excluding land
& buildings) as under Medium
Enterprises-Investment above Rs.5
crore & up to Rs.10 crore

All are true

(B)

©)

(D)

(E)
=

[=]g



139.

140.

141.

St FefeiRem ® © WRa SRR 6 IwdoT e
IS o Serte L
(A) ST TE =S

(B)  wrgrem witelt g umtor AsTR RS srferfem

(MGNREGA)
(C) wermwsh st g arfor (PMAYG)
(D)

(E)

A A Egeh Tt (PMGSY)

4 T IUTEA™ ATHUT RV TS
(DDU-GKY)

2R 3T =R W ame= "wEa (GATT), @

W 1947 4 geer ferg Mo 9, NI
i =R @t fafafa w0 aen s sgusfa

REEE]
(A)
(B)
©)
(D)
(E)

151
157
153
131

135

FraforRem & @ - Tem TR AE 2 2
(A) Forwodhg

(B) ufidhg

(C) HeeRRe

(D) o R

(E) wiasivuia
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142.

143.

144.

R fadfd 3R fafma 9 @ e v w-
QAeqfens fFera & A fora = en

(A) 11 38 1990
(B) 12 st 1988
(C) 51988
(D) 9 stie 1991
(E) 20w 1990

Frafeiaa & @ S wgea 1z v fomm we
e

(A) =i

(B) Y@

(C)  Toreragui foren

(D) =i <Rt TS T HRETS

(E) g s

H.TE. 0.3, sifafrm-2006 6 FR-t g
Fertwar = sfeeifeq @ T @ 21

(A) fafmior semt =t ggw et & aga 9
SR WY (W IR WeHi i Bigw) |
Fraw & wed # Rty feren man 21
30 @™

faffmtor el A gew ol & ga wIm
SR Ty (i SR weHl @i Bigw)
o & ded | uftwifva fran mn 21
25 @@

ferfFrmior Sert ot o1y et o qa W SR
Tyt (9 ot el i Brge) ® fFaw
& T | ufwifva fomen e 21 25 wra
T 3R 5 A TR

farfemtor semt =5t weam Semi % aga wa
SR Ty (9 SR weHl @i Bigw) °§
o & ded | uftwifva fran mn 21
5 g T 3R 10 s T

a4 g

(B)

©

(D)

(E)
EZE

e [P.T.O.



145.

146.

147.

Laissez-faire leadership,also known as

(A) Delegative Leadership

(B) Autocratic leadership
(C) Democratic leadership
(D) Servant leadership

(E) None of the above

According to the important properties
Subtrahendo of proportion

(A) Ifa:b=c:d,thena+c:b+d

(B) Ifa:b=c:d,thena—-c:b-d
(C) Ifa:b=c:d,thena—b:b=c—-d:d
(D) Ifa:b=c:d,thena+b:b=c+d:d
(E) Ifa:b=c:d,thena:c =b:d

The full form of UPIi.e a system that powers
multiple bank accounts into a single mobile
application (of any participating bank), is

(A) Unified Payments Interface
(B) United Payment Interface

(C)  United Press International
(D) Unified Prepayment Interface
(E) None of the above
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148.

149.

150.

A Statutory Corporation that was
established in 1948 for providing medium
and long-term finance to industry is known
as

(A) IFCI

(B) SEBI

(C) LIC

(D) IRDA

(E) None of the above

Management is defined as

(A) The process of planning and
organising the resources and activities
of'a business to achieve specific goals
in the most effective and efficient
manner possible

(B) Management is a distinct process,
consisting of planning, organizing,
actuating and controlling, performed
to determine and accomplish stated
goals by the use of human beings and

other resources

(C) Management is the art of getting
things done through and with people

in formally organized groups
(D) All of the above
(E)

None of the above

Which of the following is a Relative

Measure of Dispersion?

(A) Co-efficient of Range

(B) Co-efficient of Variation

(C) Co-efficient of Standard Deviation
(D) Co-efficient of Quartile Deviation
(E) All of the above



145. sweEag g (Laissez-faire leadership) &4
o Wit ST S g

(A) i
(B) frigwga
(C) eherifer g
(D) g

(B)  Soder o & g T

146. WEeYUI T[UT o STER HUTA I 94
(A) @fRa:b=c:d,Ma+c:b+d
(B) @Ra:b=c:dda—c:b-d
(C) aRa:b=c:d,da-b:b=c—d:d
(D) aRa:b=c:d,AMa+b:b=c+d:d

(E) alka:b=c:d,@a:c=b:d

147. JH3TE i Yot &9 Teh Vet TUTTedt @ S e Sk @t
! Tk & Hiagel Uftetehy (R oft s om amet
ek A1) § vIfert TaH el @

(A) TR YTAH FeTRE
(B) ®gH YT et
(C) I3 I TR
(D) TR YA R

(B)  3wder o & g Tl
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148. e ! HEAw 3R Aeihiteren form YgH A o fou
1948 1 wenfua usk wifaferes fm =t

(A)
(B)
©)
(D)
(E)

STSTEER TS

ot

TSR
SATEAREIT & T | AT AT 2
IR H A T

149. Y=Y Tl 38 YRR GRS foram T @

(A)

(B)

©

(D)
(E)

T8 TTet 3R HoTer ik | fafdre weai
! ITH oA o foTu ferelt sorarama o ganemi
i fafalRet fr e A i 3=
A oA <hl TfshaT

Tae U fafdre ufseen 2, Rraw wma o
S FETYAL S ITTWT ZRT SATC 70 82 i
Ferifta w3 3= g & o fore @
AT I 2

YA SHuETies &9 @ Tifed THgi ¥ @
o WIETH § 37 I7eh T ShIH T <hl hedl
?

TR @t
ST A B IS TG

150. F=fefaad @ - fgun s e Am 2 ?

(A)
(B)
©
(D)
(E)

T o HE— 9T

TR o Tg—-FHIT

ATk ferere ot uTih

T forae & Jg-Fve
ISuge At

EE
e [P.T.O.



SPACE FOR ROUGH WORK / ™ % & e Tam
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EEE STHIGAR T FTHHATR

E
Ty—Yferent
WA, TR TS 3R SHE™ ST

(20w )

gl % IR 37 W UgA 9 for@ argavh wi g | ug |

10.

11.

12.

WETIYUT 3T

g agA-yftaswt 7 i # fawfia @ - wm-|, wm-11 w@ am-11], wm-| | s (edar) & uea €, wm-| |
AW AT & U9 ¢ aur wr-| || § e sggaw & uvA 2

wrr-|, wrer (erdar) ® wew wwar 1@ 30 a% wea 21 wwr-| # siish W | wew wwwn E-1 @ E-8 ww (Wt %
fom wmm), fedt W @ wom wemn H-9 & H-30 @, 3¢ s @ woat s U-9 & U-30 @ aen aiven Wit |
uwa wea B-9 @ B-30 aw § (ewaefil @t @i wwiat # @ Reeh w W & www g4 €)1 W= | § www wean 31@ 70
qen ww-1 || ® wya @@ 71 | 150 @ 21 (wwr-1| qen wm-l 1| § uvq ok 37 3w sish va &t ® giga ¥)
|t avAl w1 3w wEE )

Tyl & ST A F AU enuwRl I ume uvA yftaswt & ot femn man 21 o SR we & fRuife wam d st
FFAiE @ @ geag &1 aur 3w fyarw sava fad sy TUmT SR wEe wiwnr g WA
Titgn Sew @R @ AU S yv-gftae @ Wend I qfeaswt i e Y 3w o fR ae-yfeast & Iw
Tl o qfgm guen @ sw yfeawt W qfgm goen wam 31 o 9 o wiw & 6 gftew § w & @ g
3t 9l (4B ®. 46 aiv 47) wfga q¥ 48 qfgm gz § aitv %19 wva a1 yz fam swr gan @ wer gan
ar QAm AT gan a1 vy Yfeaswt vd s qitewt d qfga sjuen @ sem @t adf R) gfeaw wE W sw
gftawt # frdt yer N gfe TR R aTETE WE agA FH guen 1 gEH q@ gawr /@ &)

34 U8 & W Fgifa wom § s sgwais srava fod | ywa-gftast w sk g9 7 g

e U9 & | S - (A), (B), (C), (D) @it (E) %u W fad m2 €1 376 | 314 T WE haAe Tk ST Kl g SR
TR IR UAE W IHfRA H| HTAHT FeA TTHIH TYh GRI IR UH | 3ifeha Tt 3wa W Fsiw |

T I § T T Hen d R g e s mER i gui - A), (B), (©), (D) R (B) 1w % 3w 3 6 v st
AU UHG T HAA Th I kI Hel/Helt T F SiA-uise 99 | fafEa w21 y@w uva & fou Fae s s w®
T 3 IV U IR U # Fafga H) o9 SR U | afg v uva & fore v @ sifes g | fom o €, @ stueet
IR AT AET AR I 99E # IR B e F0 & fou daw s/l @l & aia-dize 97 w1 @
yain &I fedt Wt aER ®1 FE-FH2 Agar yREdd arw T@fl )

gfe forft uga @ fopeht wwr 1 w1 ggur T qaTenw TwR fY I A, @ gl F S awn TR wurad § @ sish
FUTR 1 AFS AET JET |

TyA-YfTaeht | HIE U1 BISAT AT ST HIAT 7T 2| TG fEaaht 31X 3T u=eh i udien srafd # udien wa= | argt way
T @ W wlign & AEGE W IW U9F AYE w1 Aq W9 d| SHF 918 AU HUA UvA-giEaswn swa e @
W & argafa 21

FW F SN A | forelt v w1 +ft uter TE FW W 3 W A F FAETER wRarg i S TRt 8 SUan st g
fa=n w1 " )

sreaeff 3T e W eroHt sufrufa @ Self Adhesive LDPE Bag @ gft aig @ e /et ®iam & 3udia g udien wat
& BIS|

528

Note : English version of the instructionsis printed on the First Page of this Booklet.
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